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Do yoir know HOW?
Write an algebraic expression for each phrase.

1. 12 more than 5 times ¢ : \‘

2. 1 less than the quotient of a nuwmber # and &

3. 12 times the quantity 15 minus a number 4

Simplify each expression.
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Fvaluate each expression for the given valnes of the variables.
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16. Name the subset(s) of the real sirnbers to which each number belongs.
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19 Ara the following & spressions equivalent? Explain.
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Chap‘i‘er i Chapfer Test {continued) ) T FormG

20: Is the ordered pair (-8, —7) a solution fo ﬂmc.equation 3x+ 10 =297 ;

 Show your work. 7&7 ) ,@Hg 21 :"*‘\}
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21. Is the ordered pair (5, 0) a solution ﬁ) the equation 4x + 20= 12y'?
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- 22. If a negative number has an exponent, can it ever be nagattve when it is simplified?
- Explain. VS
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23.1s dWISlDII comygrtative? Provide an example to justify your answer.
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. Simplify each expression.
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27. Qpen-Ended Write a0 equation that can be solved correctly<p two different

ways\Demodgtrate boThc}x \ \
ing Find the value'of 22 + 2+ 9~ 4% + 18, Theh,change one yperation 3jgn and
add ondset oggﬁ hols s%ﬂm value'gf the expressitn is 36.
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29, Writing Describe the difference between the set of whole numbers and the set of

patural numbers, N LE A S L, ? FWATUSLS
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cribe the process foh finding the sum. of two numbithe ame sign and
32. Create 2 cxampbcﬁ‘ian}ﬁﬁsc I%dilslo;d\subﬁac n and haye a solution
of -1,
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33..Chef Boyardee has made 26 213 cups of m_violi for 40 of his fnf:nds ‘ He wants o give
‘eachs fiend 3/5 of a cup. Does he have enough ravioli for everybody? if yes, fhen how
snuch exfra does he'have? Ifno, then how much more does he need? v
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44, What is the reciprocal of 5 13 7
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35, Describe the difference between the rultiplicative ipverse and the reciprocal.
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35, What is the constant ferm the expression S+t
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37. Wrife the word phrase for the pquation 3X 4 8 = LEEX oo
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38.

Write the

3g. Prove that 23 is a Rational number.
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402 DYD's cost Toe $18:3PVDYs costs $27 doflars, 4 DVIY's cost $36.5 DYD’s cost $45.

_Create a chart of the data Iabeling the mumber of DVD's as x and the costas ¥ .

Use the chert to create en squation that represents the data.

1TuThe sauatipn to predict how much 17 DVYD?s would cost.
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